(M] (F] Floor to Frame

Machining 40 Series 25 Series Metric 15 Series 10 Series Fractional

3 Hole - Center Tap Base Plate (Continued)

Part No. Series | Color F G
25-2128 [25] Clear 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm M6 x 1.0 M6 SHCS 12.00mm 50.00mm 10358 kg
25-2128-Black | A Black 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm M6 x 1.0 M6 SHCS 12.00mm 50.00mm 10358 kg
25-2129 [25] Clear 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm M8x1.25 | M6 SHCS 12.00mm 50.00mm 10347 kg
25-2129-Black | A Black 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm M8x1.25 | M6 SHCS 12.00mm 50.00mm 10347 kg
25-2137 [25] Clear 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm | M10x1.50 | M6 SHCS 12.00mm 50.00mm 10340 kg
25-2137-Black | A Black 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm | M10x1.50 | M6 SHCS 12.00mm 50.00mm 10340 kg
25-2361 25] Clear 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm | M12x1.75 | M6 SHCS 12.00mm 50.00mm 10327 kg
25-2361-Black | A Black 25.00mm 12.50mm 25.00mm 12.50mm 25.00mm | M12x1.75 | M6 SHCS 12.00mm 50.00mm 10327 kg
40-2130 (40} Clear 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm | M10x1.50 | M8 SHCS 19.00mm 80.00mm 1485 kg
40-2130-Black | EIM Black 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm | M10x1.50 | M8 SHCS 19.00mm 80.00mm 1485 kg
40-2135 (40} Clear 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm | M12x1.75 | M8 SHCS 19.00mm 80.00mm A471kg
40-2135-Black | [EIM Black 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm | M12x1.75 | M8 SHCS 19.00mm 80.00mm 1471 kg
40-2138 (40} Clear 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm M16x2.0 | M8SHCS 19.00mm 80.00mm 1433 kg
40-2138-Black | [EI Black 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm M16x2.0 | M8SHCS 19.00mm 80.00mm 1433 kg
40-2365 (40} Clear 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm M20x25 | M8SHCS 19.00mm 80.00mm .1380 kg
40-2365-Black | [EIM Black 40.00mm 20.00mm 40.00mm 20.00mm 40.00mm M20x25 | M8SHCS 19.00mm 80.00mm 1380 kg

Material Specifications

Material | Alloy* | Process | Finish
Aluminum 6105-T5 Milled Anodize

*Or comparable
Required Machining Services

Machining Type | Machined | Reference Page
Tap Profile End Mount to Profile End 861

Profile

Suggested Hardware (Mount to T-Slot)

Part No. | Series | Qty. Bolt T-Nut

3491 10] 2 | 1/4-20x 1/2" SHCS Economy
3458 [15] 2 | 5/16-18 x 7/8" SHCS Economy
75-3412 [25] 2 | M6 x 12mm SHCS Economy
75-3430 40] 2 | M8x20mmSHCS Economy

3 Hole - Center
Tap Base Plate

Suggested Hardware (Mount to Profile End)

1
Part No. | Series | Qty. Bolt ;80
3064 (10] 2 1/4-20 x 3/4” SHCS 5'
3123 H 2 | 5/16-18 x 1.25" SHCS ;
136516 | PE | 2 | M6x16mmSHCS (Blue) =
13-8525 | PO | 2 | M8x25mmSHCS (Blue) m

For the most up to date information on 80/20° products visit 8020.net


tstiles
Highlight




